General Info

Number: 690236-100097, CT No. 2121

Description: South Weyant Avenue Area Water Line Improvements

Deadline: 2022-01-12 20:00:00 UTC

Bids			
Business	Bid Total	Submitted at Signed by	Opened at
Shelly & Sands, Inc.	\$3,549,316.10	2022-01-12 17:38:3 Jeff Schultz	2022-01-12 20:04:07 UTC
Danbert, Inc	\$3,678,680.58	2022-01-12 12:24:1 Matthew Lemon	2022-01-12 20:02:14 UTC
Elite Excavating Co. of Ohio, Inc.	\$3,835,878.75	2022-01-12 19:44:(Dale Stevens	2022-01-12 20:05:24 UTC
Fields Excavating, Inc.	\$3,885,424.29	2022-01-12 15:23:5 Josh Fields	2022-01-12 20:03:09 UTC

ORD #0368-2022, Division of Water South Weyant Avenue Area Water Line Improvements 690236-100097, CT No. 2121 Bid Tabulation, Opened 1/12/22

(local)

					Engineer's	Estimate	She	lly & Sands, l	Inc.
Ref.	Item#	Description	Qty.	Units	Unit Price	Extension	Materials	Labor	Extension
# 1	254	Pavement Planing, Asphalt Concrete	16,312	SY	\$5.00	\$81,560.00	\$0.00	\$4.75	\$77,482.00
2	259	Driveway Replacement, Type IIIA (Asphalt)	57	CY	\$500.00	\$28,500.00	\$147.50	\$147.50	\$16,815.00
3	259	Driveway Replacement, Type IIIB (Concrete)	28	CY	\$900.00	\$25,200.00	\$290.00	\$290.00	\$16,240.00
4	407	Non-Tracking Tack Coat	2,447	GAL	\$2.35	\$5,750.45	\$1.50	\$1.50	\$7,341.00
	407	Asphalt Concrete Surface Course, Type 1, (448), PG64-	680	OAL	\$195.00	\$132,600.00	\$102.50	\$102.50	\$139,400.00
5	441	22	000	CY	\$193.00	\$132,000.00	\$102.30	\$102.50	\$139,400.00
6	608	Concrete Walk (4")	5,482	SF	\$15.00	\$82,230.00	\$2.75	\$2.75	\$30,151.00
7	608	ADA Compliant Curb Ramps	14	EA	\$700.00	\$9,800.00	\$175.00	\$175.00	\$4,900.00
8	608	Sidewalk Ramp "Detectable Warning - Type E" Pad	14	EA	\$300.00	\$4,200.00	\$600.00	\$600.00	\$16,800.00
9	609	Combination Curb and Gutter, Type Standard	183	LF	\$30.00	\$5,490.00	\$27.50	\$27.50	\$10,065.00
10	609	Concrete Curb 12" Behind Walk, As Per Plan	27	LF	\$35.00	\$945.00	\$37.50	\$37.50	\$2,025.00
11	614	Maintaining Traffic	1	LS	\$75,000.00	\$75,000.00	\$75,000.00	\$75,000.00	\$150,000.00
12	615	Temporary Pavement	3,679	SY	\$2.65	\$9,749.35	\$10.00	\$10.00	\$73,580.00
13	632	Detector Loop	3,077 1	EA	\$3,717.00	\$3,717.00	\$2,025.00	\$2,025.00	\$4,050.00
14	659	Seeding and Mulching	814	SY	\$20.00	\$16,280.00	\$4.00	\$4.00	\$6,512.00
15	801	6 Inch Water Pipe And Fittings	1,382	LF	\$145.00	\$200,390.00	\$75.00	\$75.00	\$207,300.00
16	801	8 Inch Water Pipe And Fittings	8,877	LF	\$180.00	\$1,597,860.00	\$60.00	\$60.00	•
17	801*	Concrete Blocking Class COC 6, Incr. or Decr.	150	CY	\$60.50	\$9,075.00	\$72.50	\$72.50	\$21,750.00
18	801*	Ductile Iron Fittings, Increase Or Decrease	5,000	LB	\$1.60	\$8,000.00	\$1.70	\$1.70	\$17,000.00
19	802	2 Inch Valve And Appurtenances	2	EA	\$1,400.00	\$2,800.00	\$900.00	\$900.00	\$3,600.00
20	802	6 Inch Valve And Appurtenances	37	EA	\$1,450.00	\$53,650.00	\$750.00	\$750.00	\$55,500.00
21	802	8 Inch Valve And Appurtenances	18	EA	\$1,450.00	\$33,300.00	\$950.00	\$950.00	\$34,200.00
21	002	12-Inch x 6-Inch Tapping Sleeve & Valve and	0	LIT	\$4,500.00	\$0.00	\$0.00	\$0.00	\$0.00
22	802	Appurtenances	U	EA	Ψ4,500.00	Ψ0.00	Ψ0.00	φ0.00	ψ0.00
22	002	24-Inch x 8-Inch Tapping Sleeve & Valve and	1	LA	\$8,000.00	\$8,000.00	\$5,750.00	\$5,750.00	\$11,500.00
23	803	Appurtenances	1	EA	ψο,000.00	ψο,000.00	ψ3,730.00	ψ3,730.00	\$11,500.00
24	805	3/4 Inch Water Service Tap, Transferred, Long	123	EA	\$2,000.00	\$246,000.00	\$1,500.00	\$1,500.00	\$369,000.00
25	805	3/4 Inch Water Service Tap, Transferred, Short	108	EA	\$1,500.00	\$162,000.00	\$1,050.00	\$1,050.00	\$226,800.00
26	805	1 Inch Water Service Tap, Transferred, Long	3	EA	\$1,500.00	\$4,500.00	\$1,525.00	\$1,525.00	\$9,150.00
27	805	1 Inch Water Service Tap, Transferred, Short	3	EA	\$1,200.00	\$3,600.00		\$1,350.00	\$8,100.00
28	805	1.5 Inch Water Service Tap, Transferred, Long	0	EA	\$2,250.00	\$0.00	\$0.00	\$0.00	\$0.00
29	805	1.5 Inch Water Service Tap, Transferred, Short	3	EA	\$2,000.00	\$6,000.00	\$2,050.00	\$2,050.00	\$12,300.00
30	805	2 Inch Water Service Tap, Transferred, Long	1	EA	\$2,750.00	\$2,750.00	\$2,600.00	\$2,600.00	\$5,200.00
31	805	2 Inch Water Service Tap, Transferred, Bong 2 Inch Water Service Tap, Transferred, Short	3	EA	\$2,440.00	\$7,320.00	\$2,000.00	\$2,000.00	\$12,000.00
32	805	6 Inch Water Service Tap, Transferred	2	EA	\$3,000.00	\$6,000.00	\$5,750.00	\$5,750.00	\$23,000.00
33	805*	Curb Box	234	EA	\$110.00	\$25,740.00	\$5,730.00	\$75.00	\$35,100.00
34	807	CI Ferrule Valve Box and Cover	10	EA	\$160.00	\$1,600.00		\$75.00	\$1,500.00
J 4	007	CITOTUIC VALVE DON AND COVER	10	LA	\$100.00	φ1,000.00	\$15.00	\$15.00	φ1,500.00

					Engineer's	Estimate	She	<mark>lly & Sands, I</mark>	nc.
Ref.	Item#	Description	Qty.	Units	Unit Price	Extension	Materials	Labor	Extension
#	200			-	***	***		****	4 - 000 00
35	808	2 Inch Water Main Abandoned	8	EA	\$1,500.00	\$12,000.00	\$375.00	\$375.00	\$6,000.00
36	808	1.5 Inch Water Main Abandoned	1	EA	\$1,500.00	\$1,500.00	\$375.00	\$375.00	\$750.00
37	809	Fire Hydrant	32	EA	\$3,200.00	\$102,400.00	\$1,700.00	\$1,700.00	\$108,800.00
38	810*	6 Inch Hydrant Extension	6	EA	\$565.00	\$3,390.00	\$425.00	\$425.00	\$5,100.00
39	810*	12 Inch Hydrant Extension	8	EA	\$636.00	\$5,088.00	\$450.00	\$450.00	\$7,200.00
40	810*	18 Inch Hydrant Extension	4	EA	\$725.00	\$2,900.00	\$475.00	\$475.00	\$3,800.00
41	810*	24 Inch Hydrant Extension	6	EA	\$797.00	\$4,782.00	\$525.00	\$525.00	\$6,300.00
42	811*	Increase Or Decrease In Excavation and Backfill	212	CY	\$98.00	\$20,776.00	\$40.00	\$40.00	\$16,960.00
43	815*	Crushed Stone or Gravel	86	CY	\$30.00	\$2,580.00	\$35.00	\$35.00	\$6,020.00
44	SPEC	2 Inch Copper Tubing And Fittings	373	LF	\$80.00	\$29,840.00	\$42.50	\$42.50	\$31,705.00
45	SPEC	Temporary Seeding and Mulching	781	SY	\$1.00	\$781.00	\$3.00	\$3.00	\$4,686.00
46	SPEC	Sediment and Erosion Controls	1	LS	\$12,000.00	\$12,000.00	\$12,502.00	\$12,502.00	\$25,004.00
47	SPEC	Permanent Pavement	915	CY	\$360.00	\$329,400.00	\$142.50	\$142.50	\$260,775.00
48	SPEC	Heat Welding	100	SY	\$75.00	\$7,500.00	\$27.50	\$27.50	\$5,500.00
49	SPEC	Asphalt Speed Hump Replacement	3	EA	\$6,500.00	\$19,500.00	\$3,000.00	\$3,000.00	\$18,000.00
50	SPEC	Survey Coordinates	1	LS	\$15,000.00	\$15,000.00	\$4,750.00	\$4,750.00	\$9,500.00
51	SPEC	Project Identification Signs	13	EA	\$550.00	\$7,150.00	\$375.00	\$375.00	\$9,750.00
52	SPEC	Sewer Video Recording and Inspection	1,000	LF	\$20.00	\$20,000.00	\$3.75	\$3.75	\$7,500.00
53	SPEC	3/4-Inch Water Service Line, Xfr'd (Long), Hot Tap	3	EA	\$2,000.00	\$6,000.00	\$1,750.00	\$1,750.00	\$10,500.00
54	SPEC	1-Inch Water Service Line, Xfr'd (Long), Hot Tap	1	EA	\$2,000.00	\$2,000.00	\$2,100.00	\$2,100.00	\$4,200.00
55	SPEC	1.5-Inch Water Service Line, Xfr'd (Long), Hot Tap	1	EA	\$2,000.00	\$2,000.00	\$2,500.00	\$2,500.00	\$5,000.00
		Subtota	1:		. ,	\$3,466,193.80	. ,	. ,	\$3,226,651.00
		Contingency (10%	5)			\$346,619.38			\$322,665.10
	GRAND TOTAL					\$3,812,813.18			\$3,549,316.10
		% DIFFERENCE FROM ENG'S EST	' .:						-6.91%
		% DIFFERENCE w/LOWEST BIDDER							N/A
		Contract Compliance N					31-435126	51 (2/21/22, M	

Goals: MBE = 1.3%

WBE = 1.0%

MBE: Lionel Construction	1.61%
WBE: M.S. Trucking	1.51%
	2 110/

3.11%

Shelly & Sands, Inc. 1515 Harmon Ave Columbus Ohio 43223 Jeffrey T. Schultz, Asst. VP (614) 444-5100 j.schultz@shellyandsands.com

ORD #0368-2022, Division of Water South Weyant Avenue Area Water Line Improvements 690236-100097, CT No. 2121 Bid Tabulation, Opened 1/12/22

(not local)

					Engineer's	Estimate	Danbert, Inc		
Ref.	Item#	Description	Qty.	Units	Unit Price	Extension	Materials	Labor	Extension
#									
1	254	Pavement Planing, Asphalt Concrete	16,312	SY	\$5.00	\$81,560.00	\$0.00	\$3.50	\$57,092.00
2	259	Driveway Replacement, Type IIIA (Asphalt)	57	CY	\$500.00	\$28,500.00	\$75.00	\$213.33	\$16,434.81
3	259	Driveway Replacement, Type IIIB (Concrete)	28	CY	\$900.00	\$25,200.00	\$200.00	\$491.29	\$19,356.12
4	407	Non-Tracking Tack Coat	2,447	GAL	\$2.35	\$5,750.45	\$0.75	\$1.40	\$5,261.05
		Asphalt Concrete Surface Course, Type 1, (448), PG64-	680		\$195.00	\$132,600.00	\$82.00	\$122.00	\$138,720.00
5	441	22		CY					
6	608	Concrete Walk (4")	5,482	SF	\$15.00	\$82,230.00	\$4.75	\$6.35	\$60,850.20
7	608	ADA Compliant Curb Ramps	14	EA	\$700.00	\$9,800.00	\$200.00	\$480.51	\$9,527.14
8	608	Sidewalk Ramp "Detectable Warning - Type E" Pad	14	EA	\$300.00	\$4,200.00	\$45.00	\$45.00	\$1,260.00
9	609	Combination Curb and Gutter, Type Standard	183	LF	\$30.00	\$5,490.00	\$17.50	\$24.45	\$7,676.85
10	609	Concrete Curb 12" Behind Walk, As Per Plan	27	LF	\$35.00	\$945.00	\$17.50	\$24.00	\$1,120.50
11	614	Maintaining Traffic	1	LS	\$75,000.00	\$75,000.00	\$61,058.39	\$61,058.39	\$122,116.78
12	615	Temporary Pavement	3,679	SY	\$2.65	\$9,749.35	\$1.00	\$1.27	\$8,351.33
13	632	Detector Loop	1	EA	\$3,717.00	\$3,717.00	\$1,500.00	\$2,538.00	\$4,038.00
14	659	Seeding and Mulching	814	SY	\$20.00	\$16,280.00	\$10.00	\$5.98	\$13,007.72
15	801	6 Inch Water Pipe And Fittings	1,382	LF	\$145.00	\$200,390.00	\$60.00	\$132.01	\$265,357.82
16	801	8 Inch Water Pipe And Fittings	8,877	LF	\$180.00	\$1,597,860.00	\$55.00	\$91.40	\$1,299,592.80
17	801*	Concrete Blocking Class COC 6, Incr. or Decr.	150	CY	\$60.50	\$9,075.00	\$150.00	\$23.59	\$26,038.50
18	801*	Ductile Iron Fittings, Increase Or Decrease	5,000	LB	\$1.60	\$8,000.00	\$4.50	\$1.38	\$29,400.00
19	802	2 Inch Valve And Appurtenances	2	EA	\$1,400.00	\$2,800.00	\$300.00	\$125.26	\$850.52
20	802	6 Inch Valve And Appurtenances	37	EA	\$1,450.00	\$53,650.00	\$1,400.00	\$337.80	\$64,298.60
21	802	8 Inch Valve And Appurtenances	18	EA	\$1,850.00	\$33,300.00	\$1,725.00	\$420.45	\$38,618.10
		12-Inch x 6-Inch Tapping Sleeve & Valve and	0		\$4,500.00	\$0.00	\$0.00	\$0.00	\$0.00
22	802	Appurtenances		EA					
		24-Inch x 8-Inch Tapping Sleeve & Valve and	1		\$8,000.00	\$8,000.00	\$4,500.00	\$8,081.44	\$12,581.44
23	803	Appurtenances		EA					
24	805	3/4 Inch Water Service Tap, Transferred, Long	123	EA	\$2,000.00	\$246,000.00	\$650.00	\$1,774.07	\$298,160.61
25	805	3/4 Inch Water Service Tap, Transferred, Short	108	EA	\$1,500.00	\$162,000.00	\$525.00	\$1,057.89	\$170,952.12
26	805	1 Inch Water Service Tap, Transferred, Long	3	EA	\$1,500.00	\$4,500.00	\$1,000.00	\$1,860.85	\$8,582.55
27	805	1 Inch Water Service Tap, Transferred, Short	3	EA	\$1,200.00	\$3,600.00	\$875.00	\$1,180.76	\$6,167.28
28	805	1.5 Inch Water Service Tap, Transferred, Long	0	EA	\$2,250.00	\$0.00	\$0.00	\$0.00	\$0.00
29	805	1.5 Inch Water Service Tap, Transferred, Short	3	EA	\$2,000.00	\$6,000.00	\$1,400.00	\$1,675.87	\$9,227.61
30	805	2 Inch Water Service Tap, Transferred, Long	1	EA	\$2,750.00	\$2,750.00	\$2,050.00	\$3,239.48	\$5,289.48
31	805	2 Inch Water Service Tap, Transferred, Short	3	EA	\$2,440.00	\$7,320.00	\$2,050.00	\$1,744.00	\$11,382.00
32	805	6 Inch Water Service Tap, Transferred	2	EA	\$3,000.00	\$6,000.00	\$6,000.00	\$8,344.06	\$28,688.12
33	805*	Curb Box	234	EA	\$110.00	\$25,740.00	\$50.00	\$63.49	\$26,556.66
34	807	CI Ferrule Valve Box and Cover	10	EA	\$160.00	\$1,600.00	\$235.00	\$39.70	\$2,747.00

					Engineer's	Estimate		Danbert, Inc	
Ref.	Item#	Description	Qty.	Units	Unit Price	Extension	Materials	Labor	Extension
#									
35	808	2 Inch Water Main Abandoned	8	EA	\$1,500.00	\$12,000.00	\$100.00	\$967.36	\$8,538.88
36	808	1.5 Inch Water Main Abandoned	1	EA	\$1,500.00	\$1,500.00	\$100.00	\$967.36	\$1,067.36
37		Fire Hydrant	32	EA	\$3,200.00	\$102,400.00	\$1,650.00	\$1,062.93	\$86,813.76
38	810*	6 Inch Hydrant Extension	6	EA	\$565.00	\$3,390.00	\$300.00	\$264.71	\$3,388.26
39	810*	12 Inch Hydrant Extension	8	EA	\$636.00	\$5,088.00	\$400.00	\$287.37	\$5,498.96
40	810*	18 Inch Hydrant Extension	4	EA	\$725.00	\$2,900.00	\$400.00	\$247.66	\$2,590.64
41	810*	24 Inch Hydrant Extension	6	EA	\$797.00	\$4,782.00	\$550.00	\$297.44	\$5,084.64
42	811*	Increase Or Decrease In Excavation and Backfill	212	CY	\$98.00	\$20,776.00	\$25.00	\$29.48	\$11,549.76
43	815*	Crushed Stone or Gravel	86	CY	\$30.00	\$2,580.00	\$25.00	\$106.95	\$11,347.70
44	SPEC	2 Inch Copper Tubing And Fittings	373	LF	\$80.00	\$29,840.00	\$50.00	\$65.91	\$43,234.43
45	SPEC	Temporary Seeding and Mulching	781	SY	\$1.00	\$781.00	\$0.45	\$0.70	\$898.15
46	SPEC	Sediment and Erosion Controls	1	LS	\$12,000.00	\$12,000.00	\$4,500.00	\$2,411.77	\$6,911.77
47	SPEC	Permanent Pavement	915	CY	\$360.00	\$329,400.00	\$160.00	\$179.16	\$310,331.40
48	SPEC	Heat Welding	100	SY	\$75.00	\$7,500.00	\$10.00	\$40.00	\$5,000.00
49	SPEC	Asphalt Speed Hump Replacement	3	EA	\$6,500.00	\$19,500.00	\$1,500.00	\$3,700.00	\$15,600.00
50	SPEC	Survey Coordinates	1	LS	\$15,000.00	\$15,000.00	\$300.00	\$18,019.11	\$18,319.11
51	SPEC	Project Identification Signs	13	EA	\$550.00	\$7,150.00	\$400.00	\$460.00	\$11,180.00
52	SPEC	Sewer Video Recording and Inspection	1,000	LF	\$20.00	\$20,000.00	\$0.25	\$4.75	\$5,000.00
53	SPEC	3/4-Inch Water Service Line, Xfr'd (Long), Hot Tap	3	EA	\$2,000.00	\$6,000.00	\$800.00	\$3,452.44	\$12,757.32
54	SPEC	1-Inch Water Service Line, Xfr'd (Long), Hot Tap	1	EA	\$2,000.00	\$2,000.00	\$1,000.00	\$3,481.39	\$4,481.39
55	SPEC	1.5-Inch Water Service Line, Xfr'd (Long), Hot Tap	1	EA	\$2,000.00	\$2,000.00	\$1,750.00	\$3,607.84	\$5,357.84
		Subtotal	l:			\$3,466,193.80			\$3,344,255.08
	Contingency (10%)					\$346,619.38			\$334,425.51
	GRAND TOTAL:					\$3,812,813.18			\$3,678,680.59
		% DIFFERENCE FROM ENG'S EST.	:						-3.52%
		% DIFFERENCE w/LOWEST BIDDER	.:[3.64%
		Contract Compliance No).				31-102900	04 (3/10/22, M	

Goals: MBE = 1.3%

WBE=1.0%

MBE: Bakarr	1.30%
WBE: JST Enterprises &	
J.N. Graham	1.00%
	2.30%

Danbert, Inc.

8077 Memorial Drive Plain City, Ohio, 43064 Matthew J. Lemon, President (614) 873-4677 mlemon@danbertinc.com

ORD #0368-2022, Division of Water South Weyant Avenue Area Water Line Improvements 690236-100097, CT No. 2121 Bid Tabulation, Opened 1/12/22

(not local)

					Engineer's	Estimate	Elite Excavating Co. of Ohio, Inc.		
Ref.	Item#	Description	Qty.	Units	Unit Price	Extension	Materials	Labor	Extension
# 1	254	Pavement Planing, Asphalt Concrete	16,312	SY	\$5.00	\$81,560.00	\$2.10	\$1.40	\$57,092.00
2	259	Driveway Replacement, Type IIIA (Asphalt)	57	CY	\$500.00	\$28,500.00	\$120.00	\$80.00	\$11,400.00
3	259	Driveway Replacement, Type IIIB (Concrete)	28	CY	\$900.00	\$25,200.00	\$360.00	\$240.00	\$11,400.00
4	407	Non-Tracking Tack Coat	2,447	GAL	\$2.35	\$5,750.45	\$300.00	\$1.00	\$6,117.50
+	407	Asphalt Concrete Surface Course, Type 1, (448), PG64-	680	UAL	\$195.00	\$132,600.00	\$1.30	\$81.00	\$138,720.00
5	441	22	080	CY	\$193.00	\$132,000.00	\$123.00	\$61.00	\$136,720.00
6	608	Concrete Walk (4")	5,482	SF	\$15.00	\$82,230.00	\$10.00	\$7.00	\$93,194.00
7	608	ADA Compliant Curb Ramps	14	EA	\$700.00	\$9,800.00	\$180.00	\$120.00	\$4,200.00
8	608	Sidewalk Ramp "Detectable Warning - Type E" Pad	14	EA	\$300.00	\$4,200.00	\$180.00	\$120.00	\$4,200.00
9	609	Combination Curb and Gutter, Type Standard	183	LF	\$30.00	\$5,490.00	\$54.00	\$36.00	\$16,470.00
10	609	Concrete Curb 12" Behind Walk, As Per Plan	27	LF	\$35.00	\$945.00	\$54.00	\$36.00	\$2,430.00
11	614	Maintaining Traffic	1	LS	\$75,000.00	\$75,000.00	\$30,000.00	\$20,000.00	\$50,000.00
12	615	Temporary Pavement	3,679	SY	\$2.65	\$9,749.35	\$13.00	\$8.00	\$77,259.00
13	632	Detector Loop	3,077 1	EA	\$3,717.00	\$3,717.00	\$3,000.00	\$2,000.00	\$5,000.00
14	659	Seeding and Mulching	814	SY	\$20.00	\$16,280.00	\$5,000.00	\$3.00	\$6,512.00
15	801	6 Inch Water Pipe And Fittings	1,382	LF	\$145.00	\$200,390.00	\$119.00	\$80.00	\$275,018.00
16	801	8 Inch Water Pipe And Fittings	8,877	LF	\$180.00	\$1,597,860.00	\$119.00	\$66.00	\$1,473,582.00
17	801*	Concrete Blocking Class COC 6, Incr. or Decr.	150	CY	\$60.50	\$9,075.00	\$30.00	\$20.00	\$7,500.00
18	801*	Ductile Iron Fittings, Increase Or Decrease	5,000	LB	\$1.60	\$8,000.00	\$0.60	\$0.40	\$5,000.00
19	802	2 Inch Valve And Appurtenances	2	EA	\$1,400.00	\$2,800.00	\$960.00	\$640.00	\$3,200.00
20	802	6 Inch Valve And Appurtenances	37	EA	\$1,450.00	\$53,650.00	\$1,200.00	\$800.00	\$74,000.00
21	802	8 Inch Valve And Appurtenances	18	EA	\$1,850.00	\$33,300.00	\$1,600.00	\$1,000.00	\$46,800.00
21	002	12-Inch x 6-Inch Tapping Sleeve & Valve and	0	D/ I	\$4,500.00	\$0.00	\$0.00	\$0.00	\$0.00
22	802	Appurtenances	U	EA	Ψ4,500.00	Ψ0.00	Ψ0.00	Ψ0.00	ψ0.00
22	002	24-Inch x 8-Inch Tapping Sleeve & Valve and	1	LA	\$8,000.00	\$8,000.00	\$6,900.00	\$4,600.00	\$11,500.00
23	803	Appurtenances	1	EA	ψο,000.00	ψο,000.00	ψ0,700.00	ψ4,000.00	\$11,500.00
24	805	3/4 Inch Water Service Tap, Transferred, Long	123	EA	\$2,000.00	\$246,000.00	\$1,100.00	\$800.00	\$233,700.00
25	805	3/4 Inch Water Service Tap, Transferred, Short	108	EA	\$1,500.00	\$162,000.00	\$900.00	\$600.00	\$162,000.00
26	805	1 Inch Water Service Tap, Transferred, Long	3	EA	\$1,500.00	\$4,500.00	\$1,100.00	\$800.00	\$5,700.00
27	805	1 Inch Water Service Tap, Transferred, Short	3	EA	\$1,200.00	\$3,600.00	\$1,000.00	\$600.00	\$4,800.00
28	805	1.5 Inch Water Service Tap, Transferred, Long	0	EA	\$2,250.00	\$0.00	\$0.00	\$0.00	\$0.00
29	805	1.5 Inch Water Service Tap, Transferred, Short	3	EA	\$2,000.00	\$6,000.00	\$1,500.00	\$1,000.00	\$7,500.00
30	805	2 Inch Water Service Tap, Transferred, Long	1	EA	\$2,750.00	\$2,750.00	\$2,300.00	\$1,600.00	\$3,900.00
31	805	2 Inch Water Service Tap, Transferred, Short	3	EA	\$2,730.00	\$7,320.00	\$1,600.00	\$1,000.00	\$7,800.00
32	805	6 Inch Water Service Tap, Transferred	2	EA	\$3,000.00	\$6,000.00	\$7,800.00	\$5,200.00	\$26,000.00
33	805*	Curb Box	234	EA	\$110.00	\$25,740.00	\$300.00	\$200.00	\$117,000.00
34	807	CI Ferrule Valve Box and Cover	10	EA	\$160.00	\$1,600.00		\$200.00	\$5,000.00
34	007	CITOTOR VALVE BOX and COVE	10	LA	\$100.00	φ1,000.00	φ300.00	φ200.00	φ5,000.00

#	Item#	Description					Elite Excavating Co. of Ohio,		
		Description	Qty.	Units	Unit Price	Extension	Materials	Labor	Extension
25	000	O. L. al. Water Main Alamana	0	Ε.	Φ1. 500.00	φ1 2 000 00	Φ000 00	Φ.σ.Ο.Ο.Ο.Ο.	Φ12 000 00
35		2 Inch Water Main Abandoned	8	EA	\$1,500.00	\$12,000.00	\$900.00	\$600.00	\$12,000.00
36		1.5 Inch Water Main Abandoned	1	EA	\$1,500.00	\$1,500.00	\$900.00	\$600.00	\$1,500.00
37		Fire Hydrant	32	EA	\$3,200.00	\$102,400.00	\$2,100.00	\$1,400.00	\$112,000.00
38		6 Inch Hydrant Extension	6	EA	\$565.00	\$3,390.00	\$310.00	\$210.00	\$3,120.00
39		12 Inch Hydrant Extension	8	EA	\$636.00	\$5,088.00	\$350.00	\$240.00	\$4,720.00
40		18 Inch Hydrant Extension	4	EA	\$725.00	\$2,900.00	\$390.00	\$260.00	\$2,600.00
41		24 Inch Hydrant Extension	6	EA	\$797.00	\$4,782.00	\$430.00	\$290.00	\$4,320.00
42		Increase Or Decrease In Excavation and Backfill	212	CY	\$98.00	\$20,776.00	\$21.00	\$14.00	\$7,420.00
43		Crushed Stone or Gravel	86	CY	\$30.00	\$2,580.00	\$15.00	\$10.00	\$2,150.00
44	SPEC	2 Inch Copper Tubing And Fittings	373	LF	\$80.00	\$29,840.00	\$48.00	\$32.00	\$29,840.00
45		Temporary Seeding and Mulching	781	SY	\$1.00	\$781.00	\$5.00	\$3.00	\$6,248.00
46	SPEC	Sediment and Erosion Controls	1	LS	\$12,000.00	\$12,000.00	\$2,100.00	\$1,400.00	\$3,500.00
47	SPEC	Permanent Pavement	915	CY	\$360.00	\$329,400.00	\$175.00	\$115.00	\$265,350.00
48	SPEC	Heat Welding	100	SY	\$75.00	\$7,500.00	\$45.00	\$30.00	\$7,500.00
49	SPEC	Asphalt Speed Hump Replacement	3	EA	\$6,500.00	\$19,500.00	\$3,100.00	\$2,100.00	\$15,600.00
50	SPEC	Survey Coordinates	1	LS	\$15,000.00	\$15,000.00	\$11,000.00	\$7,000.00	\$18,000.00
51	SPEC	Project Identification Signs	13	EA	\$550.00	\$7,150.00	\$300.00	\$200.00	\$6,500.00
52	SPEC	Sewer Video Recording and Inspection	1,000	LF	\$20.00	\$20,000.00	\$3.00	\$2.00	\$5,000.00
53	SPEC	3/4-Inch Water Service Line, Xfr'd (Long), Hot Tap	3	EA	\$2,000.00	\$6,000.00	\$2,300.00	\$1,500.00	\$11,400.00
54	SPEC	1-Inch Water Service Line, Xfr'd (Long), Hot Tap	1	EA	\$2,000.00	\$2,000.00	\$2,400.00	\$1,600.00	\$4,000.00
55	SPEC	1.5-Inch Water Service Line, Xfr'd (Long), Hot Tap	1	EA	\$2,000.00	\$2,000.00	\$3,000.00	\$2,000.00	\$5,000.00
		Subtotal				\$3,466,193.80			\$3,487,162.50
		Contingency (10%)			\$346,619.38			\$348,716.25
	GRAND TOTAL:					\$3,812,813.18			\$3,835,878.75
		% DIFFERENCE FROM ENG'S EST.	.:						0.60%
		% DIFFERENCE w/LOWEST BIDDER	2:						8.07%
		Contract Compliance No	э.				20-164318	36 (2/4/22, MA	

Goals: MBE = 1.3%

WBE = 1.0%

MBE/WBE: using Rath to meet both

2.35%

Submitted GFE.

Elite Excavating Co. of Ohio

4500 Snodgrass Rd.

Mansfield, OH 44903 (Richland Co)

M. Scott Fulmer, President

(419) 683-4200

eliteexcating@aol.com (contract documents)

/ eliteexc1@aol.com (project specific

Dale A. Stevens, Secretary

ORD #0368-2022, Division of Water South Weyant Avenue Area Water Line Improvements 690236-100097, CT No. 2121 Bid Tabulation, Opened 1/12/22

(not local)

					Engineer's	Estimate	Field	ds Excavating	, Inc.
Ref.	Item#	Description	Qty.	Units	Unit Price	Extension	Materials	Labor	Extension
# 1	254	Pavement Planing, Asphalt Concrete	16,312	SY	\$5.00	\$81,560.00	\$6.00	\$0.00	\$97,872.00
2	259	Driveway Replacement, Type IIIA (Asphalt)	57	CY	\$500.00	\$28,500.00	\$200.00	\$400.00	\$34,200.00
3	259	Driveway Replacement, Type IIIB (Concrete)	28	CY	\$900.00	\$28,300.00	\$200.00	\$550.00	\$34,200.00
4	407	Non-Tracking Tack Coat	2,447	GAL	\$2.35	\$5,750.45	\$200.00	\$330.00	\$9,788.00
1	407	Asphalt Concrete Surface Course, Type 1, (448), PG64-	680	UAL	\$195.00	\$132,600.00	\$289.00	\$1.00	\$197,200.00
5	441	22	000	CY	\$193.00	\$132,000.00	\$289.00	\$1.00	\$197,200.00
6	608	Concrete Walk (4")	5,482	SF	\$15.00	\$82,230.00	\$4.50	\$7.50	\$65,784.00
7	608	ADA Compliant Curb Ramps	14	EA	\$700.00	\$9,800.00	\$200.00	\$500.00	\$9,800.00
8	608	Sidewalk Ramp "Detectable Warning - Type E" Pad	14	EA	\$300.00	\$4,200.00	\$200.00	\$75.00	\$4,200.00
9	609	Combination Curb and Gutter, Type Standard	183	LF	\$30.00	\$5,490.00	\$223.00	\$50.00	\$12,810.00
10	609	Concrete Curb 12" Behind Walk, As Per Plan	27	LF	\$35.00	\$945.00	\$40.00	\$60.00	\$2,700.00
11	614	Maintaining Traffic	1	LS	\$75,000.00	\$75,000.00	\$50,000.00	\$14,000.00	\$64,000.00
12	615	Temporary Pavement	3,679	SY	\$2.65	\$9,749.35	\$0.05	\$0.05	\$367.90
13	632	Detector Loop	3,077 1	EA	\$3,717.00	\$3,717.00	\$6,500.00	\$0.00	\$6,500.00
14	659	Seeding and Mulching	814	SY	\$20.00	\$16,280.00	\$1.50	\$1.50	\$2,442.00
15	801	6 Inch Water Pipe And Fittings	1,382	LF	\$145.00	\$200,390.00	\$106.00	\$84.00	\$262,580.00
16	801	8 Inch Water Pipe And Fittings	8,877	LF	\$143.00	\$1,597,860.00	\$100.00	\$63.00	\$1,597,860.00
17	801*	Concrete Blocking Class COC 6, Incr. or Decr.	150	CY	\$60.50	\$9,075.00	\$150.00	\$0.00	\$22,500.00
18	801*	Ductile Iron Fittings, Increase Or Decrease	5,000	LB	\$1.60	\$8,000.00	\$5.25	\$0.75	\$30,000.00
19	802	2 Inch Valve And Appurtenances	2	EA	\$1,400.00	\$2,800.00	\$735.00	\$65.00	\$1,600.00
20	802	6 Inch Valve And Appurtenances	37	EA	\$1,450.00	\$53,650.00	\$1,905.00	\$70.00	\$73,075.00
21	802	8 Inch Valve And Appurtenances	18	EA	\$1,850.00	\$33,300.00	\$2,430.00	\$70.00	\$45,000.00
	002	12-Inch x 6-Inch Tapping Sleeve & Valve and	0	L/ I	\$4,500.00	\$0.00	\$8,100.00	\$3,900.00	\$0.00
22	802	Appurtenances	O	EA	ψη,500.00	ψ0.00	ψ0,100.00	Ψ3,700.00	ψ0.00
	002	24-Inch x 8-Inch Tapping Sleeve & Valve and	1	L/ I	\$8,000.00	\$8,000.00	\$10,000.00	\$4,000.00	\$14,000.00
23	803	Appurtenances	1	EA	ψο,000.00	ψο,000.00	Ψ10,000.00	Ψ-1,000.00	Ψ14,000.00
24	805	3/4 Inch Water Service Tap, Transferred, Long	123	EA	\$2,000.00	\$246,000.00	\$400.00	\$1,050.00	\$178,350.00
25	805	3/4 Inch Water Service Tap, Transferred, Short	108	EA	\$1,500.00	\$162,000.00	\$400.00	\$800.00	\$179,600.00
26	805	1 Inch Water Service Tap, Transferred, Long	3	EA	\$1,500.00	\$4,500.00	\$500.00	\$1,150.00	\$4,950.00
27	805	1 Inch Water Service Tap, Transferred, Short	3	EA	\$1,200.00	\$3,600.00	\$500.00	\$900.00	\$4,200.00
28	805	1.5 Inch Water Service Tap, Transferred, Long	0	EA	\$2,250.00	\$0.00	\$750.00	\$1,500.00	\$0.00
29	805	1.5 Inch Water Service Tap, Transferred, Short	3	EA	\$2,000.00	\$6,000.00	\$750.00	\$1,050.00	\$5,400.00
30	805	2 Inch Water Service Tap, Transferred, Long	1	EA	\$2,750.00	\$2,750.00	\$1,000.00	\$1,300.00	\$2,300.00
31	805	2 Inch Water Service Tap, Transferred, Short	3	EA	\$2,440.00	\$7,320.00	\$1,000.00	\$1,150.00	\$6,450.00
32	805	6 Inch Water Service Tap, Transferred	2	EA	\$3,000.00	\$6,000.00	\$1,000.00	\$3,000.00	\$8,000.00
33	805*	Curb Box	234	EA	\$110.00	\$25,740.00	\$165.00	\$35.00	\$46,800.00
34	807	CI Ferrule Valve Box and Cover	10	EA	\$160.00	\$1,600.00	\$75.00	\$25.00	\$1,000.00
• •	20,		10		Ψ100.00	\$1,000.00	Ψ15.00	Ψ25.00	Ψ1,000.00

					Engineer's	Estimate	Field	s Excavating,	Inc.
Ref.	Item#	Description	Qty.	Units	Unit Price	Extension	Materials	Labor	Extension
# 35	808	2 Inch Water Main Abandoned	0	T: A	¢1.500.00	¢12 000 00	¢200.00	¢000 00	ΦΩ ΩΩΩ ΩΩ
36	808	1.5 Inch Water Main Abandoned	8	EA EA	\$1,500.00	\$12,000.00	\$200.00	\$800.00	\$8,000.00
			1		\$1,500.00	\$1,500.00	\$200.00	\$500.00	\$700.00
37	809	Fire Hydrant	32	EA	\$3,200.00	\$102,400.00	\$3,315.00	\$635.00	\$126,400.00
38	810*	6 Inch Hydrant Extension	6	EA	\$565.00	\$3,390.00	\$375.00	\$75.00	\$2,700.00
39	810*	12 Inch Hydrant Extension	8	EA	\$636.00	\$5,088.00	\$510.00	\$90.00	\$4,800.00
40	810*	18 Inch Hydrant Extension	4	EA	\$725.00	\$2,900.00	\$585.00	\$90.00	\$2,700.00
41	810*	24 Inch Hydrant Extension	6	EA	\$797.00	\$4,782.00	\$680.00	\$95.00	\$4,650.00
42	811*	Increase Or Decrease In Excavation and Backfill	212	CY	\$98.00	\$20,776.00	\$33.00	\$7.00	\$8,480.00
43	815*	Crushed Stone or Gravel	86	CY	\$30.00	\$2,580.00	\$45.00	\$5.00	\$4,300.00
44		2 Inch Copper Tubing And Fittings	373	LF	\$80.00	\$29,840.00	\$98.00	\$57.00	\$57,815.00
45	SPEC	Temporary Seeding and Mulching	781	SY	\$1.00	\$781.00	\$2.50	\$2.50	\$3,905.00
46	SPEC	Sediment and Erosion Controls	1	LS	\$12,000.00	\$12,000.00	\$4,000.00	\$2,000.00	\$6,000.00
47	SPEC	Permanent Pavement	915	CY	\$360.00	\$329,400.00	\$185.00	\$100.00	\$260,775.00
48	SPEC	Heat Welding	100	SY	\$75.00	\$7,500.00	\$100.00	\$0.00	\$10,000.00
49	SPEC	Asphalt Speed Hump Replacement	3	EA	\$6,500.00	\$19,500.00	\$8,500.00	\$1,500.00	\$30,000.00
50	SPEC	Survey Coordinates	1	LS	\$15,000.00	\$15,000.00	\$10,000.00	\$0.00	\$10,000.00
51	SPEC	Project Identification Signs	13	EA	\$550.00	\$7,150.00	\$375.00	\$425.00	\$10,400.00
52	SPEC	Sewer Video Recording and Inspection	1,000	LF	\$20.00	\$20,000.00	\$5.00	\$0.00	\$5,000.00
53	SPEC	3/4-Inch Water Service Line, Xfr'd (Long), Hot Tap	3	EA	\$2,000.00	\$6,000.00	\$1,000.00	\$1,500.00	\$7,500.00
54	SPEC	1-Inch Water Service Line, Xfr'd (Long), Hot Tap	1	EA	\$2,000.00	\$2,000.00	\$1,250.00	\$1,500.00	\$2,750.00
55	SPEC	1.5-Inch Water Service Line, Xfr'd (Long), Hot Tap	1	EA	\$2,000.00	\$2,000.00	\$1,500.00	\$1,500.00	\$3,000.00
		Subtota	1:			\$3,466,193.80	·	· · · · · · · · · · · · · · · · · · ·	\$3,532,203.90
		Contingency (10%	5)			\$346,619.38			\$353,220.39
	GRAND TOTAL:					\$3,812,813.18			\$3,885,424.29
		% DIFFERENCE FROM ENG'S EST	.:						1.90%
		% DIFFERENCE w/LOWEST BIDDER	₹ :						9.47%
		Contract Compliance No	0.				31-145132	2 (7/22/22, 54	416, MAJ)

Goals: MBE = 1.3%

WBE = 1.0%